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FOREWORD

This report presents Candidates’ Items Responses Analysis Report (CIRA) on the
Certificate of Secondary Education Examination (CSEE) which was conducted in
2022. This report aims to provide feedback to all educational stakeholders on the
factors that contributed to the candidates’ performance in Arabic.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation which intends to monitor students’ learning to provide feedback that
teachers, students and other educational stakeholders can use to improve teaching
and learning respectively. This analysis shows justification for the candidates’
performance in the Arabic Language subject. The candidates who attained high
scores had adequate knowledge of tenses and grammatical rules, sufficient basic
vocabulary to use in different contexts, the ability to interpret simple stories, the
ability to understand multiple choice questions and choose correct responses and to
match the vocabulary with their opposites. However, candidates who scored low
marks faced difficulties in responding to the questions due to their insufficient
knowledge of the tested concepts.

This report will help students to identify strengths and weaknesses for them to
improve learning before sitting for their Certificate of Secondary Education
Examination (CSEE). It will help teachers to identify the challenging areas and
take appropriate measures during teaching and learning.

The National Examinations Council of Tanzania (NECTA) expects that the
feedback provided in this report will shed light on the challenges for which
education stakeholders should take proper measures to improve teaching and
learning the Arabic Language subject. Consequently, students will acquire
knowledge, skills and competence indicated in the syllabus for better performance
in future examinations.

The Council appreciates the contribution of all those who prepared this report.

e

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of candidates who sat for the Certificate of
Secondary Education Examination (CSEE) in Arabic Language subject in 2022.

Arabic Language paper consisted of 12 questions, with section A, B and C.
Candidates were supposed to answer 11 questions. In section A and B, the
candidates were required to attempt all the questions. In section C, the
candidates were required to choose three (3) of the four questions. Section A
had two (2) questions, in which question one (1) had ten (10) items that carried
10 marks and question two (2) had five (5) items that carried five (5) marks,
making a total of 15 marks. Section B had six (6) questions, in which question
three (3) carried 10 marks; question 4, 5, 6, 7 and 8 carried 6 marks each,
making a total of 40 marks. Section C had four optional questions, each carrying
15 marks where a candidate had to choose three (3) questions.

The analysis of the Certificate of Secondary Education Examination (CSEE) in
Arabic Language presents what the requirements of each question were; and
what was expected as the responses in each question. Furthermore, it shows how
the candidates answered the questions. Samples obtained from the candidates’
responses are presented to provide a general picture of how the candidates
responded to the questions.

The rating of candidates’ performance has been grouped as ‘good’, ‘average’
and ‘weak’. In this analysis, the performance ranging from 65 to 100 per cent
has been categorised as ‘good’ and is represented by green colour; the
performance ranging from 30 to 64 per cent has been categorised as ‘average’
and is represented by yellow colour; the performance ranging from 0 to 29 per
cent has been categorised as ‘weak’ and is represented by red colour. The
overall candidates’ performance is summarised in the Appendix A.

The total number of the candidates who sat for the Certificate of Secondary
Education (CSEE) in 2022 in Arabic Language was 16,602, out of which
(24.6%) of the candidates passed and (75.4%) of the candidates failed. In 2021,
candidates who sat for the Certificate of Secondary Education (CSEE) were
15,528; out of these, (16.7%) of the candidates passed and (83.3%) of the
candidates failed. This implies that the performance of the candidates in the year
2022 has increased by 7.9 per cent compared to the year 2021.



2.0 ANALYSIS ON THE CANDIDATES’ PERFORMANCE ON EACH

2.1

QUESTION

SECTION A: Multiple Choice and Matching Items

This section consisted of two questions. The candidates were required to attempt
all the questions. Question one (1) was a multiple-choice question and had ten
(10) items that carried 10 marks. Question two (2) was matching items and had
five (5) items, each carrying 1 mark, making a total of fifteen (15) marks for this
section.

2.1.1 Question 1: Multiple Choice Question

This was a compulsory question. It consisted of 10 multiple choice items
derived from various topics of the syllabus. The candidates were required to
choose the most correct answer from the given alternatives and write its letter
beside the item number in the answer booklet provided.

The question was attempted by 16,602 (100.00%) candidates. A total of 464
(2.79%) candidates scored from 7.0 to 10.0 marks, which is a good
performance. In addition, 5,973 (35.98%) candidates scored from 3.0 to 6.0
marks, which is an average performance. Lastly 10,165 (61.23%) candidates
scored from 0.0 to 2.0 marks, which is a weak performance. The general
performance in this question was average since 6,437 (38.77%) candidates
scored from 3.0 to 10.0 marks. The overall candidates’ performance in the
question is summarised in Figurel.
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Figure 1: Candidates’ Performance in Question 1
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The analysis of each item in this question is as follows:

Item (1) was,
Al 3 585 ) as ol oA G O 59 e s
Lol bang aald & i
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The item was about Adverbs (<i28). The candidates were required to identify
Adverb of time found in among the five (5) sentences given. The item intended
to measure the candidates’ knowledge of adverb of time (oti <iib). The
candidates with the knowledge of adverbs («i¢&) opted for the right answer

(z). They realised that, the option comprised a sentence with a phrase indicates
an adverb of time which was ‘<£a// £ *(before maghrib).

This indicates that, these students not only understood the adverbs of time, but
they also understood the adverbs of place. This is because, the distractors given
in involved adverbs of place.

On the other hand, the candidates who selected other options (1), (<), (=) and (s),
they just confused between adverbs of time and that of place. This is because,
the distractors they chose contained adverbs, but were adverbs of place.
Moreover, the candidates did not know what the sentences meant. This shows
that, the candidates were poor in both adverbs of time and adverbs of place.



Item (2) was,
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This item was based on meaningful sentences (ét<al/ Ju-fl) It demanded the
candidates to identify the meaningful sentence from the options given. The
candidates who had the knowledge of meaningful sentence attempted option (o)
which was: (4isia fjﬂwo (The blackboard was written). The candidates chose
the sentence because they knew that, it brings complete meaning. They also
understood that, it was a nominal sentence (WY/ 4iuf/) whose subject (£15iaf)
was (Mb while its predicate (Jsd ) was (4€9). The students who
performed well in this item had enough knowledge of Arabic sentences.

Meanwhile, there were some of the candidates who opted for optlons (), ()
and (z) which were (uauh-fl < 4<) (The guardian drank), (< £ Sl ) (The student
wrote) and (@JL\J/ Ji€9) (The maid (female) is sweeping) respectively. These
candidates were wrong. This is due to the fact that, the mentioned options
contained transitive verb (e Jed which needed object (4 Jsede) to complete
the meaning. The options for instance, can be completed as follow: (deBﬁ )
(The guard drank) in option (1) can be written as (J-“A‘-” Culadl ¢43) (The guard
drank juice), option (<) can be written as (ﬂwﬂ/ IS Lafiy /) (The student wrote a
letter) and option (z) can be written as(4d Laasy uuS-r) (The female maid is
sweeping a room.

On the other hand, those who selected the option (3) ( 4 &4 48 &L (Hind and
Laila visited) were also wrong. This clause contained the word (<UL ) which
was transitive verb; hence it needed an object like (‘-’Effuf/) (the museum) to
make it meaningful.



They selected it because the option contained four (4) words. In other words,
they were deceived by a number of words found in the clause which were four
(4). The candidates were not aware that, number of words in a clause does not
determine its meaningfulness.

Generally, students who performed poor in this item were weak in both
vocabulary and Arabic sentence structure.

Item (3) was:
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The item was about ‘4-'0'-” <4s/;ir (Arabic sentences). The item required
students to identify a sentence which was grammatically incorrect among the
list provided. The candidates with the knowledge of Arabic grammar sentence
chose (z) which was (4fiaj Cuhl) 4é4; A). This is because the sentence consisted
of the word (#4) which was a defective verb; hence, it becomes in accusative
or jussive case by omitting defective letters (4-19 <ig ). As for this option waw
was a defective letter, so it was supposed to be omitted as the word preceded by
the particle lam which makes the verb to be in jussive case. Moreover, the
students who opted for the option understood rules concerning defective verbs
in Arabic language.

On the other hand, the candidates who chose other options were wrong. The
students failed to understand that, those sentences did not have grammatical
errors; as there was grammatical agreement of words in those sentences.



Item (4) was,
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The item was about (<€ ¥/ &Lade) (signs of inflection). The item demanded the
candidates to identify type of word ‘kasra’ is its sign of nasbu (accusative case)
among the options given. The candidates who had the knowledge of signs of
inflection opted for (<). The candidates knew that, (alwd/ &3l 2aa) becomes in
nominative case by the sign dhamma and becomes in both accusative and
genitive case by the sign kasra. This indicates that, they had sufficient
knowledge of declinability and indeclinability (ﬁ’@f/j <€¥) in the Arabic
Language.

Unlike, those who selected the option () and (3) did not know when kasra
appears as an accusative sign (‘-vA-if 4a3¢) and when it appears as a genitive sign
(,u-U 4a3€), They did not understand that, the kasra when appears at the end of
singular noun (-b’iif/é&fb or Broken Plural (s« £43) which are not mu’utalli
at its last letter, represents the sign of jarr and not nasbu.

On the other hand, those who opted for (z) and (s) went astray. This is because
there is no way whereby kasra can appear as a sign of any inflection whether it
IS nominative, accusative or genitive at the end of dual noun ((f'J‘Jo and
structured masculine plural (&lte/ A &). The candidates did not know that,
these two kinds of nouns become in accusative case by yaa as their accusative
sign.

In short, those who chose wrong options, they had a poor mastery of
declinability and indeclinability (£L!5 <€ ¥) in Arabic grammar.
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Item (5) was,
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The item was derived from declinable and indeclinable words (Gialls ¢osdl).
The item required the candidates to choose two words which were indeclinable
(&9 from the options given.

The candidates who had the knowledge of indeclinable words chose () which
was (v «caril) strive, they (third person feminine plural) beat)), since the
option had indeclinable words, whereby the word ((#t&/) was imperative verb
(ﬂY/M and (Cx<) was present tense connected with a nuun of emphasis ( T
,-y;ﬂi), Moreover, the Candidates knew the ahwaal al-iiraab of the command
verb and the ahwaal al-iiraab of the imperative verbs.

Meanwhile, other candidates who opted for (z) and (2) confused them with the
right answer. This is because the word (s ) (They beat) and (u-'-u«é-r) (You
beat) in (z) and () respectively, were among speC|aI five verbs (‘twu-f/ JMYO
which are always among declinable verbs (w-d/ JMYO They also confused the
word (cse4d) in (3) with the right answer. The candidates were misled by the last
letter nun (<) which resembled the nuun found in the (Z#e&/). In addition,
their partial knowledge of indeclinable words convinced them to think that, the
word (ke in (z) was among the indeclinable.

There were however, some of the candidates who opted for (1) (s« ,£4/) and
(«) (¢ ~«d). The candidates lacked the knowledge of both indeclinable and
declinable words.



Item (6) was,
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T
ltem (6) was about inflection of the imperfect verb (ki Jidil /i), The
candidate was required to identify, which word from the options given, when
precedes imperfect verb, it (imperfect verb) becomes mansuub. The candidates
who had sufficient knowledge of (5J&44!/ Jadll </ 5€)) chose (\) This is because,
the word (<) was among accusative particles (u«ad/ u/J-ﬂ) which meant (in
order to).

Meanwhile, the candidates who selected option (z) ‘& (if), (3 ‘&’ and () ‘e’
they had confused between accusative particles (um-f/ &153) and jussive
particles (aadl &153).

In addition, those who opted for option (<) were wrong, since the word (A9
(how many) was an interrogative particles (sidi&d/ &/59) and not among
accusative particle.



Item (7) was,
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The item (7) derived from nominal sentences (%w-«Y/ d-lu.f)) The item required
the candidates to choose a nominal sentence in which its predicate was a
nominal sentence too. The candidates with the knowledge of nominal sentence
opted for (z). They selected this because; they understood that, the predicate of
a subject (ctisk 4t) which is nominal sentence came as a predicate of the
nominal sentence.

The candidates who selected option (<) (Jnﬂ/ c,-f/wm-rp-f Gullal ) (The student
did not attend the class) and () (il cids o8 4B 3 uad Ediff 08) (This girl likes
trip at summer season) were wrong. This is because the options comprised
predicates which were verb sentences. The predicates were: (Jm-d/g-f/ uass 4
and (wdicall <5 o9 45 3 ¢ad) in (<) and (») respectively. The candidates did not
know that, the item demanded predicate which was in nominal sentence state.

Apart from that, the candidates who opted for the (2) (Jisdeaé uaddl 9 (A bird is
in the cage) were wrong. This is due to the fact that, the sentence comprised
predicate quasi-sentence (4l 4id Jis) which is (uaﬂ/ ) and not predicate in
the state of nominal sentence as required in the item. On the other hand, the
candidates who opted for the rest option were also wrong.



Item number (8) was,
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Item (8) was about Nouns (;’L&&%. The item demanded the candidates to
identify a non-dual noun found in the nouns given in the item. The candidates
who had sufficient knowledge of Arabic nouns opted for (=) which was (Jla).
This is because it was the right answer according to item’s demand, although it
resembled the state of dual noun as it ends with alif and nuun. This kind of noun
is known as Nouns Prohibited from Variation (< &l Gu £ jisa AL) as it always
does not accept tanween and kasra at the end. Those who responded well in this
item had mastered well this part of Arabic grammar.

Meanwhile, others who selected the remaining options were wrong. This is
because they were dual nouns which showed two (2) entities, whereby option ()
(/4iak) showed two students, option (<) (/{3 meant two (2) boys, option (z)
(otde) meant two Alys and option (¢) (<LHL) meant two visitors.

The poor performance showed by the candidates by choosing the distractors
indicates that, they were unable to distinguish alif and nuun found in dual nouns
and alif and nuun found in some nouns which are prohibited from variation.
This indicates that, they did not have knowledge of nouns prohibited from
variation (il G £ 449 and dual nouns.
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Item number (9) was,
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Item (9) was derived from pronouns (i), The item asked the candidates to
identify a sentence in which its subject was a connected pronoun (M—é ),
The candidate with the knowledge of pronouns (_ite<a) opted for (<) ( 5403 Gl
J«J/ ) (People went to the working place). They realized that, the verb (49
was connected with the pronoun waw of third person masculine plural ( s
&Lu-fl) These candidates had sufficient knowledge of verbs and pronouns in
Arabic language.

The candidates who opted for other options were wrong; since all the options
contained estimated pronouns (s jiad). In () the verb (Uadi ) (he is
catching) contained estimated pronoun ‘s’ (he) referred to ‘Z&i& (a
policeman). In (z) the verb ‘G (he knocked) comprised an estimated pronoun

‘34" referred to ‘cwad? (the bell).

l\/Ioreover the verb ‘y,u ’(We are raising) in (A) consisted of estimated pronoun
“Ga? (we) referred to ‘Sa4’ and option (2) ‘Gea? (she is doing well) consisted
of estimated pronoun ‘&2’ (she) referred to <3Ldf (The girl).

11



Item (10) was,
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Item (10) was about an object (4 d,«-u) The item asked the candidates to
determine a sentence which had no object (% dy-u) The candidates who had
enough knowledge of the object opted for the correct answer (z) bdialll ¢ jlia
dbiip (The student (girl) became active). The reason that made them to choose
this distractor is that, the sentence given contained the auxiliary verb ‘&ile’
which is among annular of kaana and its sisters (lﬁfﬁfi o). These verbs make
their nouns in nominative and make their predicates in accusative case.

Meanwhile, the candidates who selected distractors, they were wrong, since the
distractors contained an object (4-'51,3154) In option (1) the sentence i) caliisy
i (The girl arranged a room) contained an object (‘U JM which was 44 (a
room). In option (<) the sentence ‘e JELY) C< (The teacher explained a
lesson) contained an object (4 /543 which was &3 (a lesson).

In () the sentence /<« JALJ/ £&’ (The businessman bought sugar) comprised an
object (% JM which was /€&’ (some sugar). In option (¢) the sentence ¢ gi=
L il (The carpenter made a chair) contained an object (4 J#49 which
was &S (a chair). The candidates who opted for the incorrect answers were not
familiar with the object, kaana wa akhwaatuha and transitive verbs.

12



2.1.2 Question 2: Matching items

The question consisted of five (5) matching items. It was about nouns. List ‘A’
consisted of nouns while List ‘B’ involved their opposites. The candidates were
required to match each word noun in List A with its corresponding opposite in
List B by writing the letter of the corresponding response beside the item
number in the answer booklet provided. The question was:

(=) 32t S (s il By () 35051 QWS 128 o 2
Y 85 @ B S HEY S B

(o) dE42 () 23

B H I Sgaial | 1,
La| o | 2,
L3 - A3
ii:;j';.!i > R E8] 4
Eaall| S| s
5K

2

The question was attempted by 16,602 (100.00%) candidates, out of whom
1,577 (9.50%) candidates scored from 4.0 to 5.0 marks, which is a good
performance. Also, 4,108 (24.74%) candidates scored from 2.0 to 3.0 marks,
which is an average performance. Lastly, 10,917 (65.76%) candidates scored
from 0.0 to 1.0 mark, which is a weak performance. Therefore, the candidates’
general performance in the question was average, considering that, 5,685
(34.24%) candidates scored from 1.5 to 5.0 marks. The overall candidates’
performance in the question is summarised in Figure 2.
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Figure 2: Candidates’ Performance in Question 2

The data shows that, 1,577 (9.50%) candidates had a good performance. These
candidates mastered Arabic Language nouns. The data shows that, the
candidates who scored full marks (5.0) in this question were 578 (3.48%)
candidates. They showed sufficient knowledge of Arabic Language nouns. The
candidates who scored all the marks for example, matched the items of List ‘A’
with the correct definition from List ‘B’ as follows:

Item (1) which was “{#&” (ascending) was matched with (<) which was
“luié-f/” (descendlng) item (2) which was 4-&!/ (few) matched with (s) which
was “id (many), item (3) “&” (far) with () “<udl” (near), item (4)

L (rest) with (C) “cadll” (tiresome) and item (5) “A&r” (early) matched
with (J) which was « Ay (late). The extract 2.1 is a sample of good responses
from one of the candidates

14
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Extract 2.1: A Sample of the Candidates’ Responses to Question 2

The Extract 2.1 is a sample of responses from one of the candidates who
matched Colum A and B with their opposities correctly.

Although the performance was good, 4,108 (24.74%) candidates scored average
marks. The analysis shows that, some of them matched correctly between two to

three items. This is attributed to the candidates’ partial knowledge of the subject
matter.

On the other hand, 10,917 (65.76%) candidates failed in this question.
Moreover, 34.99 per cent of candidates scored zero. The candidate lacked the
knowledge of Arabic Language vocabulary, as the results they guessed the

answers. Extract 2.2 shows a sample of the incorrect responses from one of the
candidates.

15
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Extract 2.2: A Sample of the Candidates’ Responses to Question 2

The Extract 2.2 is a sample of a response from one of the candidates who scored
zero. The candidate matched the items incorrectly.

16



2.2 SECTION B: Short Answers

This section had six (6) questions. Each question had six items except question
three that had five items. The candidates were required to answer all the
questions. Each question carried six (6) marks, except question 3, which carried
ten (10) marks, making a total of forty (40) marks in this section.

2.2.1 Question 3: Inflection (<L Y)

This question had five items. The candidates were required to identify inflection
(<€ ¥) of the underlined words given. The question was:

gV Jad o _‘b_g-i:;"-ba_ajs-'l -3
'l:% 4..:L.§.'|'| ’C:.: —i
a3 e sadh o o
@Eﬁ Sité i g_;.:Lfi —a
rj.’;:x.zj'. ,j'u.f.f:v e —>
34,820 2ULT o VER —

The question was attempted by 16,602 (100.00%) candidates. Among them,
13,306 (80.14%) candidates scored from 0.0 to 2.5 marks, which is a weak
performance. Yet, 2,478 (14.93%) candidates scored from 3.0 to 6.0 marks,
which is an average performance. Additionally, only 818 (4.93%) candidates
scored from 6.5 to 10.0 marks, which is a good performance. The performance
in this question was weak as 3,296 (19.85%) candidates scored from 3.0 to 10.0
marks. The overall candidates’ performance in the question is summarised in
Figure 3.
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Figure 3: Candidates’ Performance in Question 3

The analysis shows that, 80.14 per cent of the candidates performed weakly.
Some of them responded to some items with incorrect and insufficient answers
to some of the items. Consequently, they scored low marks which did not enable
them to get either a good or an average performance. On the other hand, 56.64
per cent of the candidates scored zero. Some of these candidates provided
irrelevant answers. Moreover, some of them failed to understand the demand of
the question. Further analysis shows that, some of the candidates wrote
meaningless sentences while others skipped the question. This shows that the
candidates lacked the knowledge of word analysis of the Arabic Language.
Extract 3.1 shows a sample of a weak response from one of the candidates in
this question.
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Extract 3.1: A Sample of the Candidates’ Responses to Question 3

Extract 3.1 above shows a sample of responses from one of the candidate who
provided incorrect responses. The candidate did not understand the demand of
the question. He or She, for instance, shifted the word (<) in part ((I to the
last position instead of analyzing it.

The analysis shows that 14.93 per cent of the candidates had an average
performance in the question. This performance can be attributed to candidates’
partial knowledge of inflection and analysis. For example: some of them either
failed to provide correct answers to some items or provided responses with
excessive grammatical errors. Some of them provided incomplete answers to
some items or to all items. Furthermore, some of the candidates in this category
left some parts of the questions blank. There were however, some of the
candidates who responded correctly to some item.

The data shows that, 4.93 per cent of the candidates had a good performance.
Further analysis shows that, 0.5 per cent scored full marks. The candidates were
competent in analyzing the Arabic sentences. One of the candidates for
example, responded as follows:

In item (1) (Aid GGsi) AL wrote: 5l iy 4ad) dade j of jda £ jlni Jid -4d)
(>3] ¢ Yanfau: Present tense in nominative case, and its sign of nominative
is visible dhwama on the last consonant 454L5 £is 4245 {adié 5 ‘fﬂj‘ Jeld Lash)
(* AT AeAl-Kitaab: Subject in nominative case, and its sign of nominative is
visible dhwama on the last consonant.

19



In the item (2) uial Ladie j «jlals 4 Joida sl Biadd) 3 citdal Gupiadl i)
(a-""‘ ¥ 24 Attwalibaini: An object in accusative case and its sign of
accusative is yaa because it is dual noun. Je 4/ Jaa ¥ (islll Je St Ja i i b)
(«£¥ Fii: The genitive article structured by sukun which does not has no
specific position for irab. (es/ A& 58l 5508 5 33 daie AT o Jiska il Jall))
Al-faswli: The noun in genitive case caused by fii, and its sign of genitive is
visible kasra on the last consonant.

In item (3) Lo aad; dadley fi5a Jeldl i -Jilash A5 55158 Jiwd) i f)
(e AT & $aB)Arrasailu: Subject of passive voice in nominative case, and its
sign of nominative is visible dhwama on the last consonant (i giaia 4-M ‘-ul-“\-’«)
(e AT E7Y) i uial 4-«31&0 Mutaaniyyatan: Adjective in accusative case,
and its sign of accusative is visible fat-ha on the last consonant.

In the item (4) .(ldl o s ala Jif #\a ;Abaall Jaé 33) Jaa: Past tense
structured on fat-hi. (s s/ & 5 3aLE 5508 533 4adE 5 « 15 jda 4l Cilas : diuall) Al-
Madinati: Compliment in genitive case, and its sign of genitive is visible kasra
on the last consonant.

In item (5) .s4Ls gﬂl Jas ‘,J‘/.JJIQ.[G Crda 5Ly Al s8R 14 3&AT) i'-l.uh\ sYR)
Haaulai: Demonstrative noun structured by kasr in place of nominative of the
subject.. Gilaa Y w A I ialb Lo wJ 4.4)@; Esia pdiiall juk 3Gkl «
Atwibbau: Predicate of the subject in nominative case, and its sign of
nominative is visible dhwama on the last consonant.

Extract 3.2 is a sample of responses from one of the candidates who analyzed
the given underlined words correctly.
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Extract 3.2: A Sample of the Candidates’ Responses to Question 3
Extract 3.2: A sample of responses from one of the candidates who analyzed all
the sentences correctly.
2.2.2 Question 4: Al-binaa’u

The question was about Al-binaau. It required the candidates to identify
situations of bibaai the past tense (perfect verb) (uélell Jed sli Jiga/ and

reasons for that situations from the options given. The question was:-
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The question was attempted by 16,602 (100.00%) candidates. Also, 16,149
(97.27%) candidates scored from 0.0 to 1.5 marks, which is a weak
performance. Also, 251 (1.51%) candidates scored from 2.0 to 3.5 marks,
which is an average performance and 202 (1.22%) candidates scored from 4.0
to 6.0 marks, which is a good performance. The general performance of the
candidates in the question was therefore weak as only 453 (2.73%) candidates
scored from 2.0 to 6.0 marks. The overall candidates’ performance in the
question is summarised in Figure 4.

Scores

@0.0-1.5
02.0-35
@4.0-6.0

1.22% 1.51%

Figure 4: Candidates’ Performance in Question 4
22



The analysis shows that, 97.27 per cent of the candidates performed weakly,
Moreover, 94.64 per cent scored zero. The candidates provided irrelevant
answers to all items. This shows that the candidates lacked knowledge of
Arabic verbs. Some of the candidates even skipped the question as others
copied words from other questions and used them as answers in this question.
Moreover, some of the candidates wrote meaningless sentences. Furthermore,
some of them wrote the sentences as they are. In addition, some of them did not
understand the demand of the question. Extract 4.1 is a sample of weak
responses from one of the candidates.
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Extract 4.1: A Sample of the Candidates’ Responses to Question 4

Extract 4.1 is a sample of responses from one of the candidates who provided
incorrect answers.

Further analysis of the candidates’ responses shows that 251 (1.51%) candidates
had an average performance in the question. Some of the candidates in this
category were able to respond correctly to some items. However, some of them
were able to give the reasons for the verbs to be indeclinable to some parts of
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the question. There were, however, some of the candidates’ responses which
were affected by grammatical errors. This average performance implies that the
candidates had a partial knowledge of ak 'waal al’binaai and i’iraab of perfect
verbs (Jed¥),

Moreover, the data show that, the candidates who performed well in this
question were 202 (1.22 %). The data shows that, 0.4 per cent of the candidates
scored full marks in this question. One of the candidates for example, responded
as follow:

G SGi 35 R] &5
Llaall g5 ey a2l o fia PR i
It was connected (Structured on (They came)

with pronoun waw Dhwammi)

for third person

masculine plural

A a%A Ul Allaly O e Gl ENEY -
It was connected (Structured on (1 took)

with pronoun taa Sukun)

with vowel

Lo | = :
It was not (Structured on Fat- (It increased)
connected with any hi)

pronoun

B gl ¢y % ALY Qs e G O (They | 2
It was connected (Structured on wrote)

with pronoun nun Sukun)

for third person

feminine plural

A rur o ALl | ol e Gia Uaa) 2
Saledl) e (Structured on (We returned)

It was connected Sukun)

with pronoun naa

for  first  person

plural
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It was connected (Structured on Fat- (They two

with pronoun alif hi) went)

for duality

The candidates managed to give a good response as they understood that,
whenever a past tense connected with taa for first person singular (4SJ-\JAJ/ étffo
as in part (1), nun for third person feminine plural (55l u,,u) as in part (2) and
naa for first person plural (U,qu.f/u.k: A1y L") in option (¢) always will be
structured by Sukuun.

In addition, they knew that, when a past tense is connected with waw for third
person masculine plural (iéli-if/ 59 will be structured by Dhwamm and
whenever either it was not connected with any pronoun or was connected with
pronoun alif for duality (u-u-rY/ u-/b will be structures by Fat-h.

Generally, those who correctly responded to the question understood not only
the situations whereby perfect verb is mabniyyun (.~ but also the reasons
behind that situations. This means that they mastered well Arabic grammar.
Extract 4.2 shows a sample of good responses in this question.
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Extract 4.2: A Sample of the Candidates’ Responses to Question 4

Extract 4.2 is a sample of responses from one of the candidates who managed to
answer the question.



2.2.3 Question 5: g/ sdl: 493/ 5 o/ (Annawaasikh: inna and its sisters)

This question had six items about (Zw/s) L#ils3/ 5 o/ (inna and its sisters). The
candidates were required to use the particle inna or one of its sisters in the
nominal sentences given. They also were required to consider necessary changes
that may occur after using them. The question was:

KA s G sl i) e e Gel sy 1) 4325
S 0 G s s
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The question was attempted by 16,602 (100.00%) candidates and their
performance was generally weak. The data shows that, 12,424 (74.83%)
candidates scored from 0.0 to 1.5 marks, which is a weak performance. Also
2,374 (14.30%) candidates scored from 2.0 to 3.5 marks, which is an average
performance. Lastly, 1,804 (10.87%) candidates scored from 4.0 to 6.0 marks,
which is a good performance. The overall performance in this question is
summarised in Figure 5.

100
90
30 74.83
70

Percentage of Candidates
v
=}

20 14.30 10.87

: ] o

0.0-1.5 20-3.5 4.0-6.0
Scores

Figure 5: Candidates’ Performance in Question 5
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As shown above in the figure 5, the candidates who performed weakly in this
question were (74.83%). On the other hand, the data shows that, 69.35 per cent
of the candidates scored zero in this question. Some of these candidates failed to
identify the requirement of the question. Consequently, they provided
information that was not required in the question. Furthermore, some of them
responded with meaningless sentences, while others skipped the question.
Extract 5.1 is a sample of poor responses from a candidate who scored zero in
question 5.
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Extract 5.1: A Sample of the Candidates’ Responses to Question 5

The extract 5.1 is a sample of weak responses from the candidate who failed in
all the question parts. The candidate failed to understand the demand of the
question, consequently provided incorrect answers.

However, the data show that only 2,374 (14.30%) candidates had an average
performance in this question. The candidates in this group left some parts of the
question unanswered. There were, however, some of them who provided
answers with grammatical errors. In addition, some of them were able to answer
some of the parts, among which there were sentences with grammatical errors.
This indicates that they had partial knowledge of both verbal and nominal
sentences.
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The candidates who performed well in this question correctly used inna or one
of its sisters correctly. In addition, they put an appropriate vowel on the last
consonant. Most of them, however, failed to score full marks in this question
due to some reasons such as providing answers in some parts that were
characterised by grammatical errors. Consequently, they scored from 4 to 5.5
marks. Furthermore, 1.2 per cent of the candidates scored full marks. The
candidates showed competence on using inna and its sisters. Extract 5.2 is a
sample of good responses from one of the candidates who scored all marks
allocated in this question.
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Extract 5.2: A Sample of the Candidates’ Responses to Question 5
Extract 5.2 is a sample of good responses from the candidate who answered all
parts of the question correctly.
2.2.4 Question 6: s4/(Al-binaau)

This question was about (s#&). It had three parts. The candidates were
instructed to connect nun for third person feminine plural (53 ¢4) to present
tense in the given sentences and make necessary changes needed. The question
was:
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The question was attempted by 16,602 (100.00%) candidates and their
performance was generally weak. The data shows that, 16,222 (97.71%)
candidates scored from 0.0 to 1.5 marks, which is a weak performance. Also
203 (1.22%) candidates scored from 2.0 to 3.5 marks, which is an average
performance. Lastly 177 (1.07%) candidates scored from 4.0 to 6.0 marks,
which is a good performance. The overall performance in this question is
summarized in Figure 6.

Scores
@0.0-1.5
02.0-35

@4.0-6.0

1.22%

1.07%

Figure 6: Candidates’ Performance in Question 6
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The analysis shows that, 16,222 (97.71%) candidates scored from 0.0 to 1.5
marks which is a weak performance. Some of them filled in one item with the
correct answer. Most of the candidates were able to connect nuun nnis’wa ( J
és«df) in some parts; however they failed to change the subject of the sentence.
There were also candidates who scored half marks in some items. On the other
hand, the data shows that, 92.74 per cent of the candidates scored zero. The
candidates were unable to use the suffix nuun in the verbs. In addition, they
were not able to change what was necessary. Further analysis shows that, the
candidates were not knowledgeable about nun for third person feminine plural
(654dl G44). Yet, some of them copied some words from other areas in the
question paper and used them as their answers. There were, however, some of
the candidates who left the questions unanswered, Also there are those who did
not understand the demand of the question. Extract 6.1 shows a sample of a
weak response from one of the candidates in this question.

Extract 6.1: A Sample of the Candidates’ Responses to Question 6

The extract 6.1 is a sample of responses from the candidate who provided
incorrect answers. The candidate wrote the sentences as they are without
connecting the nuun and making changes required.

Further analysis of the candidates’ responses shows that 1.22 per cent of the
candidates had an average performance in the question. This group managed to
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respond correctly, but only in some items. Some of their answers provided had
grammatical errors. This average performance implies that the candidates had a
partial knowledge of nun for third person feminine plural nuun nni’swa &)

(65,

The analysis shows that, 1.07 per cent of the candidates had a good perfomance.
On the other hand, 37 candidates attained full marks in this question. The
candidates were able to answer this question correctly by connecting present
tense With nuun nis'wa (65 &) and change what was necessary in the
sentence. The candidates responded as follow: In part () wrote: « Giiky él{-«’?/
alekl (Mothers are cooking the food). In part (<) wrote: “ll 5 di Eiithly
(The girl students are unfolding the mat). In part (z) wrote: “ G &y &
g]}fﬁf” (The girls are running home activities).

The candidates in part (/) connected the word “cub-'r’ (she cooks) with nuun
nis 'wa (554l ¢4 and came up with the sentence “slabl G<ib; Clga s (Mothers
are cooking the food). In part (<), they connected present tense uuﬂ-' with
nun nis-wa (3s«i! ;%) and came up with the following response “ Ju i L
L (The girl students are unfolding the mat). The candidates in part (z)
connected the verb with nun nis-wa (és« ) and came up with the
sentence JJ-“-” G G &y (The girls are running home activities). The
candidates were able to connect nuun nis’'wa (55l uJ-') and change what was
necessary to be changed. Moreover, the candidates changed prefix taau in the
verbs to be yaau. In addition, the candidates were able to change the subjects in
the sentences to be plura. The extract 6.2 is a sample of good responses from
one of the candidates:
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Extract 6.2: A Sample of the Candidates’ Responses to Question 6
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The extract is a sample of good responses from one of the candidates who was
able to connect present tense with nuun nis'wa (454 ¢4 and changing what
was necessary in the sentence.

2.2.5 Question 7: Relative Pronouns (s sl sLac¥)

This question was about Relative Pronouns (4s«se slawd). The question
demanded candidates to construct sentences using Relative Pronouns given. The
guestion was:

3a2t alE G V) «J;-a:ofﬂt sEU G ol L P YaiE
(rM uL.U! -‘;,J_d.h -—g;b'di ‘_9.!'. mgg_m)

The question was attempted by 16,602 (100.00%) candidates. A total of 14,406
(86.77%) candidates scored from 0.0 to 1.5 marks, which is a weak
performance. In addition, 1,550 (9.34%) candidates scored from 2.0 to 3.5
marks, which is an average performance. Lastly, 646 (3.89%) candidates scored
from 4.0 to 6.0 marks, which is a good performance. The general performance
in this question was weak as 2,196 (13.23%) candidates scored from 2.0 to 6.0
marks. The overall candidates’ performance in the question is summarised in
Figure 7.

3.89%

Scores
Wm00-1.5
Oz2z.0-3.5
w40 -6.0

Figure 7: Candidates’ Performance in Question 7

The data shows that, 14,046 candidates scored from 0.0 to 1.5 marks which is a
weak performance. The candidates who scored some marks constructed
33



ungrammatical sentences. There were, however, some of them who answered
one part of the question correctly and another part with ungrammatical
sentences. However, 1.91 per cent of the candidates scored zero. They were
unable to respond to the items as required. The candidates lacked knowledge of
Relative Pronouns (4s<sef slewd). Consequently, some of them left the
question unanswered and some of them copied some words from other
questions and used them as answers. Furthermore, some of the candidates
copied some words from the stem of this question (the statement of the
question) and used them as answers for this question. Additionally, some of the
candidates wrote meaningless sentences. In addition, some of the candidates did
not understand the demand of the question.. Extract 7.1 is a sample of poor
responses.
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Extract 7.1: A Sample of the Candidates’ Responses to Question 7

Extract 7.1 shows a sample of responses from one of the candidates who gave
incorrect answers. The candidate failed to use the relative pronouns correctly.
The candidate for instance, in part (<) wrote sentence which had grammatical
mistakes and the sentence was incomplete.

Further analysis of the candidates’ responses shows that 1,550 (9.34%)
candidates had an average performance in the question. Some of the candidates
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were able to answer some parts correctly. In addition, there were some
candidates who answered some parts; however, among those parts they
answered, there were minor grammatical errors. This average performance
implies that, the candidates had partial knowledge of Relative Pronouns.

On the contrary, the candidates who scored high marks in this question were
able to construct correct sentences using relative pronoun. However, some of
the candidates failed to score full marks in this category as their responses were
involved either correct and incorrect answers or correct and ungrammatical
sentences. On the other hand, 122 candidates scored full marks in this question.
One of the candidates for instance responded as follow:

The candidate used the word (a-f-fo to construct the sentence zad a-f-f/ ‘itflﬁi-”)éi)
(olaiay) QJ(The student who passed the examination came) He or She used the
word (&) to construct the sentence (s s il 5iialll u....b.// c-”-c) (The
doctor treated a girl student who was sick). He or She wrote: @JU/ G cal)
(oﬁbﬂ/aﬁ &e2d (The girls who were tired from reading slept). Furthermore, the
candidate used the word (w-tUl) to construct the sentence /xas w-'if/ Crdialll &)
(1% Jmf/aﬁ(l saw two boy students who came to the class early). He or She
used the word (&) to form the sentence (ldgis Jiadl 8 la i Gl lidiatih)
(The two girl students who are studying in the class are hard workers) The
student used the word (w-f-ﬂ) to create the sentence CGuijd Gudll Gadedd HA/)
(> (I like teachers who are teaching students). The Candidates were able to
create sentences using relative pronouns (ds<asel/ slaw) The Candidates
considered gender and number to ensure grammatical agreement. Extract 7.2 is
a sample of responses from the candidate who responded to the question
correctly.
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Extract 7.2: A Sample of the Candidates’ Responses to Question 7

The Extract 7.2 shows a sample of good responses from one of the candidates

2.2.6 Question 8: Simile (4’;, ’:.5,’)

The question had three (3) items and it was about Simile. The question required
the candidates to construct meaningful sentences using the (4&/ 434). The
question was:
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The question was attempted by 16,602 (100.00%) candidates, out of whom
14,967 (90.15%) candidates scored from 0.0 to 1.5 marks which is a weak
performance, 431 candidates (2.60%) scored from 2.0 to 3.5 marks which is an
average performance; and 1,204 (7.25%) candidates scored from 4.0 to 6.0
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marks which is a good performance. Therefore, the candidates’ general
performance in the question was weak, considering that 1,635 (9.85%)
candidates scored from 2.0 to 6.0 marks. The overall candidates’ performance in
the question is summarised in Figure 8.

Scores

m0.0-1.5
02.0-3.5
m4.0 - 6.0

Figure 8: Candidates’ Performance in Question 8

As shown above, the candidates who had a weak performance in this question
were 90.15 per cent. On the other hand, 89.71 per cent of the candidates scored
zero. The candidates lacked knowledge and skills of creating meaningful
sentences using wajhu al-shabhi (4% 434. Consequently, some of them
skipped the question. There were, however, some of the candidates who copied
words from other questions and used them as answers in this question.
However, some of the candidates did not understand the demand of the
question. This suggests that the candidates in this question lacked the
knowledge of al-tashbiih (4wdi) . Extract 8.1 shows a sample of a weak
response from one of the candidates in the question.
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Extract 8.1: A Sample of the Candidates’ Responses to Question 8
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The Extract 8.1 shows a sample of responses from one of the candidates who
failed to use wajhu al-shabhi given. The candidate wrote the words as they are
without creating sentences by using them.

Furthermore, the analysis indicates that, 431 (2.60%) candidates scored from 2.0
to 3.5 marks, which is an average performance in this question. Majority of the
candidates were able to answer correctly only one party of the question.
Consequently, they scored two marks. This suggests that they had partial
knowledge of the Arabic language and vocabulary.

As shown in the analysis, the candidates with a good performance in the
question had scores ranging from 4.0 to 6.0 marks. They were able to create
sentences using the words given. However, some of them failed in one part. The
data analysis shows that, 7.25 per cent of the candidates scored full marks. They
were able to use the words (wajhu al-shabh) to create meaningful sentences.
The candidates knew the pillars of tashbiih. Moreover, they knew what the word
given in this question meant. Extract 8.2 is a sample of a good answer.
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Extract 8.2: A Sample of the Candidates’ Responses to Question 8

Extract 8.2 shows a sample of a response from one of the candidates who was
able construct sentences using wajhu al-shabh given.
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2.3 SECTION C: Composition

This section had four guestions: one question was about writing an article and
one question on letter writing. While the rest two questions were about literary
works. The candidates were required to attempt only three questions in this
section. Each question carried fifteen (15) marks, making a total of 45 marks.

2.3.1 Question 9: Literary Works

The question was about literary works. The question required the candidates to
explain about challenges a person may encounter when he/she refused to
cooperate with colleagues in the life. The candidates were required to use the
literary book ‘The Kingdom of Bee’ ((.A-'-f/ 4&&% to write about it in not less than
one hundred and fifty (150) words. The question was:
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The question was attempted by 7,494 (45.14%) candidates. The general
performance in this question was weak as 27.37 per cent of the candidates who
attempted the question scored from 4.5 to 14.0 marks. Furthermore, the analysis
of the candidates who attempted the question shows that: 5,443 (72.63%)
candidates scored from 0.0 to 4.0 marks, which is a weak performance, 1,834
(24.47%) candidates scored from 4.5 to 9.5 marks, which is an average
performance. Yet, 217 (2.90%) candidates scored from 10.0 to 14.0 marks,
which is a good performance. The performance in the question is summarised in
Figure 9.
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Figure 9: Candidates’ Performance in Question 9

The candidates who performed weakly in this question showed weaknesses in
analyzing Arabic literary books. However, some of the candidates who scored
some marks in this category had a good introduction, but failed to provide
satisfactory explanation in the main body. Furthermore, 35.59 per cent of the
candidates who attempted the question scored zero. They were unable to write
and analyze the story at all. Consequently, some of them wrote meaningless
sentences. On the other hand, some of the candidates copied words or passages
from other questions and put them as their answers. These incorrect answers
show that, these candidates lacked enough vocabulary and the knowledge of
analyzing Arabic literary works. Extract 9.1 is a sample of a candidate who
performed poorly in this question.
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Extract 9.1: A Sample of the Candidates’ Responses to Question 9

Extract 9.1 shows a sample of weak responses. The candidate failed to answer
the question. In addition, some of the sentences are meaningless.

The candidates who scored from 4.5 to 9.5 marks as an average performance
identified the question's requirement. The candidates were able to write
introduction and conclusion but mixed correct and incorrect points in the main
body. They also did not score high marks because they did not provide
exhaustive elaborations.

The candidates who performed well in this question responded to the question
as required. Furthermore, the candidates organized their points appropriately,
starting with the introduction, main body and conclusion. The candidates’ good
performance shows that, they had adequate knowledge of the story of “Bees’
Kingdom” (aL\-J/ 4&«) Moreover, they showed the knowledge of analyzing and
summarizing the Arabic Language story. However, their responses had some
very minor grammatical errors and spelling mistakes. Extract 9.2 shows a
sample of a good response.
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Extract 9.2: A Sample of the Candidates’ Responses to Question 9

Extract 9.2 is a sample of responses from one of the candidates who performed
well in this question, although he or she had a few mistakes.

2.3.2 Question 10: Literary Works

The question was about literary works. The question required the candidates to
explain about techniques used by the old lion to catch gazelle. Thereafter they
were instructed to give five lessons learnt from the story as in the book ‘The
Gazelle and old lion’ (a4l iu¥5 4 i), However, the candidates were
instructed to write about this in not less than one hundred and fifty (150) words.

The question was was:
ﬁﬂ'
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This question was attempted by 4,467 (26.91%) candidates. The analysis of the
candidates who attempted the question shows that: 142 (3.18%) candidates
scored from 10.0 to 14.0 marks, which is a good performance, 1,366 (30.58%)
candidates scored from 4.5 to 9.5 marks, which is an average performance. Yet,
2,959 (66.24%) candidates scored from 0.0 to 4.0 marks, which is a weak
performance. The performance in the question is summarised in Figure 10.
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Figure 10: Candidates’ Performance in Question 10

The data shows that 3.18 per cent of the candidates who attempted the question
scored high marks. These candidates answered the question correctly.
Furthermore, these candidates organized their points appropriately, starting with
the introduction, main body and conclusion. These candidates’ good
performance shows that, they had adequate knowledge of the story of ‘The
gazelle and the old lion’. Moreover, they showed a mastery of the Arabic
language. However, their responses had some minor grammatical errors and
spelling mistakes. Extract 10.1 shows a sample of good responses.
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Extract 10.1: A Sample of the Candidates’ Responses to Question 10

Extract 10.1 is a sample of good responses from a script of a candidate who
wrote the good essay.

The candidates who scored averagely were able to identify the question's
requirement. To some extent they had knowledge of the subject matter. Some of
them provided a relevant introduction but failed to provide good conclusions.
Additionally, some of them mixed correct and incorrect responses. They also
did not score high marks because of the failure to provide exhaustive
elaborations.

The analysis of the candidates’ responses shows that the candidates who
performed poorly in this question failed to answer the question properly due to
poor command of the Arabic Language. The candidates who scored zero marks
on this question provided unclear explanations. Some of them did not
understand the question's requirement. Others copied words from other
questions and used them as responses. Some of the candidates just narrated the
story as it is without interpreting the given statement. The poor performance
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implies that the candidates did not have adequate knowledge of the story of ‘The
Gazelle and The OId Lion’. Extract 10.2 shows a sample of a weak response.
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Extract 10.2: A Sample of the Candidates’ Responses to Question 10
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2.3.3 Question 11: Article Writing

The guestion was about Article Writing. The question required the candidates to
explain about Five (5) Advantages of Transportation. The question was:
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The question was attempted by 2,013 (12.13%) candidates. The general
performance in this question was weak as 10.48 per cent of the candidates who
attempted the question scored from 4.5 to 13.0 marks. Furthermore, the analysis
of the candidates who attempted the question shows that, 1,802 (89.52%)
candidates scored from 0.0 to 4.0 marks, which is a good performance, 188
(9.34%) candidates scored from 4.5 to 9.5 marks, which is an average
performance. Yet 23 (1.14%) candidates scored from 10.0 to 13.5 marks, which
is a weak performance. The performance in the question is summarised in
Figure 11.

Scores
m0.0-4.0
O45-95
@10.0-13.5

Figure 11: Candidates’ Performance in Question 11

The data analysis shows that, Most of the candidates wrote answers which were

not related to the demand of the question. Some of them just copied some words

from the questions and used them as answers. A few of them composed unclear

essay. This shows that most of them had poor mastery of the Arabic Language
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and writing skills. Extract 11.1 is a sample of poor responses from one of the
candidates.

N el ) o Lo 1
/__./U | VAR ,,.5\4“( 8> 3P :\.J_')_‘L..q'f \_}A |

wol el Ve Z5 5500 Aae - a2
SR SN COTIIN L W

RS THE A N O T B0 TS I A e |
- - - o

i
R T AN N AN T A
) B — — . '
\‘;e’ x.r-.a'fl \.n..lf 'l &]::L":dl L l“:.\._.-.z 1‘ ﬂ \\_,:-L.a—n.“
- e — = v
\A_\.“ \':f" B.\ﬂi‘;ll Ll_.l-." L‘Lﬂt“k'{"ﬂ .!._4..4'\_«....3”
' iy \'__J} "o [
RN AN N YA ¢
7 " T'. — T —
{.? \“1.1_)t \_i_‘-\_._:’o 1] o p il \'é i T‘"E“ (O ]
B - -, A ‘ "

)‘ﬁ_,) Jl{ L‘F \_.;aj.} ) (:I_,.lj' .LH_JJF F (u”.:.-;

~J

—— | _—

BUWRYFN VIR PTSIES <N
— 2 —

I AN I A YIS B
< =

iy

(o> ‘Ilbk PR \'7'.*,('-.'
\-_._J "o J

3
e

;":\_::.»A- dl ""X_.\-. _L.!;.&-___A]‘ (‘{' f__‘_‘__J;-_-ﬁn--:;) -._i:}g L‘;’
S A\ IT ""\'i\s.” NP (-\‘ %_\—h—\—ﬁ ol \f
- ' . ,"‘/ —/

50



= O T -

4')].4‘& Ls”.‘\;;)JZ) i‘\\ :LA\J (P>
W i~ h

\\J,h:a \}; VL i—l\)&.’) B«') ]‘_‘.f A2 k:“ \'J(dh_(ﬂ

Extract 11.1: A Sample of the Candidates’ Responses to Question 11

Extract 11.2 is a sample of responses from the candidates who had a poor
performance.

There were a few candidates who had an average performance in this question.
The candidates were able to write an article about advantages of transportation,
although they showed some weakness in their responses such as, failing to
organize the points in a good order and providing insufficient explanations.
There were, however, some of them who mixed incorrect and correct responses.
Generally, their responses had a lot of grammatical and spelling errors.

On the other hand, there were a few candidates who had a good performance in
this question. These candidates were able to explain the benefits of
transportation as the question demanded. The candidates provided good
introduction, well organized points and lastly they wrote a good conclusion.
Although, the candidates had a good performance in this question, their
responses had very minor spelling and grammatical errors which prevented
them from scoring full marks. Yet, the candidates showed high competence in
explaining different issues in Arabic Language. This implies that they had
sufficient vocabulary and grammar of Arabic Language. Extract 11.2 is a
sample of candidates who performed well in this question.
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Extract 11.2: A Sample of the Candidates’ Responses to Question 11

Extract 11.2 shows a sample of responses from one of the candidates who
answered the question
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2.3.4 Question 12: Letter Writing

The question was about Letter Writing. It required the candidates to write the
letter using a name ‘Said Juma’ to thank his brother who lives in Sudan for his
support. The question was:
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The question was attempted by 10,322 (62.17%) candidates. The general
performance in this question was good, as 56.68 per cent of the candidates who
attempted the question scored from 4.5 to 14.0 marks. Furthermore, the analysis
of the candidates who attempted the question shows that, 598 (5.79%)
candidates scored from 10.0 to 14.0 marks, which is a good performance, 5,253
(50.89%) candidates scored from 4.5 to 9.5 marks, which is an average
performance and 4,471 (43.32%) candidates scored from 0.0 to 4.0 marks,
which is a weak performance. The performance in this question is summarised
in Figure 12.
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Figure 12: Candidates’ Performance in Question 12

The analysis shows that 5.79 per cent of the candidates who attempted the
question had good marks in this question. These candidates were able to write
the letter, as the question demanded. Although they arranged their ideas in a
good flow, their responses had very minor spelling and grammatical errors. This
implies that these candidates had both sufficient vocabulary of the Arabic
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Language and good writing skills. Extract 12.1 shows a sample of good
responses.
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Extract 12.1: A Sample of the Candidates’ Responses to Question 12

Extract 10.1 is a sample of good responses from a script of a candidate who
wrote the good letter. The candidate had the knowledge of writing Arabic
letters. The candidate for instance, wrote the address and date correctly.
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On the other hand, some of the candidates had an average performance in this
question. The candidates managed to write the address, the greeting, the main
body and conclusion, yet their response had grammatical errors. This indicates
that the candidates had insufficient vocabulary.

The analysis shows that 43.32 per cent of the candidates who attempted the
question scored from 0 to 4 marks out of 15 marks allocated to this question.
Some of the candidates in this category, who scored some marks in this
question, wrote the address of the letter and its introduction. With regard to the
candidates who scored zero in the question, they completely failed to write the
letter. The candidates showed weakness such as repeating the question in their
responses, copying some words from other questions and using them as answers
and providing unclear explanations. This shows that, the candidates had
inadequate knowledge of letter writing and insufficient vocabulary. Extract 12.2
is a sample of poor responses.
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Extract 12.2: A Sample of the Candidates’ Responses to Question 12

Extract 11.2 shows a sample of a weak response from one of the candidates.
The candidate For instance, wrote the question as his or her answer.
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE ON EACH TOPIC

4.0

5.0

The Arabic Language Examination involved the following topics: Noun (a«Y/);
The meaningful Sentence (sxdef <laasl); Reading for Comprehension;
Expression; Inflection; Indeclineability; Relative Pronouns; Adverbs (s &/);
Nawaasikhu; Attached Pronouns; Object of the sentence (4 Jsedsf); Literary
works and Balagha.

The topics with average performance were: question 1 which consisted of Noun
(>¥), Meaningful sentence (sxdall aaly), Inflection; Adverbs (—ds &),
Indeclineability; Attached Pronouns and Object of the sentence (4 Jsedel))
(38.77).

Other topics with the average performance were: Reading for Comprehension
(34.24%); Expression (33.59) and Literary works (30.57).

On the other hand, The following topics had a weak performance: Nawaasikhu
(25.17%); Inflection (19.85); Relative Pronouns (13.23%); Balagha (9.85%)
and Indeclineability (2.51).

The candidates’ performance on the topics is summarised in Appendix A,
whereby yellow colour indicates average performance, while red colour
indicates a weak performance on the topics.

CONCLUSION

This analysis shows that the average performance of short answer questions was
lower compared to other types of questions. So, Along with the teachers to
make sure that the students understand the topics properly, they also have to
make sure that, they give students a lot of questions that need short answers.

RECOMMENDATIONS

To improve the performance of the candidates in future examinations, the
following are recommended:

(@) In order to increase the level of performance in the topic Annawaasikh
(inna wa akh-waatuha) it is recommended that, the teacher has to present a
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(b)

(©)

(d)

text which contains inna wa akh-waatuha and kaana wa akh waatuha.
After that, the teacher should ask the students to read them. Thereafter, the
teacher should guide the students to identify characteristics of inna wa akh-
waatuha and kaana wa akh waatuha. In addition the teacher should guide
the students on how to appropriately use them in sentences. Finally, the
teacher has to provide a communicative task to learners so as to practice
them.

In order to increase the level of performance in Inflection, teacher should
give enough examples of different sentences having variety of words
during the teaching and learning process. After that, the teacher should ask
the students to read them. Thereafter, the teacher should guide the students
to write these examples and discuss them in their groups focusing on the
role of each word in the sentence. Lastly, he or she should go around the
groups to see what is going on.

In order to increase the level of performance in the topic Asmaau al-
mauswuul (Relative pronouns), it is recommended that the teacher should
present to students enough examples of meaningful sentences having
Relative pronouns during teaching and learning process so that the students
can see how these pronouns (Asmaau al-mauswuul) are used in sentences.
After that, he or she should explain them in detail while focusing on the
topic. Thereafter, the teacher should discuss with the students on how to
construct sentences by using Asmaau al-mauswuul. In addition, the teacher
has to put the students in small groups and then, give them different relative
pronouns and tells them to make sentences using them.

In order to increase the level of performance in the topic Al-balaaghat, it is
recommended that the teacher should present enough examples of
Attashbiih (4« sentences in the teaching and learning process, ask
students to read the examples, and then ask them to determine pillars
(important components) of Attashbiih (4« from the sentences. Also he
or she should explain them in detail while focusing on the components of
simile (4udd oL, After that, the teacher should discuss with the students
on how types of simile are formed.
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(€)

(f)

(N: B, before shifting to the types of simile, the teacher should make sure
that, the components of simile are familiar to students. This is because;
there is a close relationship between them). Furthermore, the teacher should
guide the students in their groups to construct simile sentences. Lastly, the
teacher should give the students general exercise about simile.

In order to increase the level of performance in the topic al-binaau, the
teacher should present to students enough examples of different verbs and
nouns during the teaching and learning process. These words should
include declinable and indeclinable words. Thereafter, the teacher should
guide the students to identify from those words, indeclinable (mabniyy) and
declinable (mu’urab) words. In addition, the teacher should give other
examples of verbs that are mu’urab and show how those verbs can change
and become mabniyyu. Furthermore, the teacher has to put the students in
small groups and then, give them muurab verbs and tell them to explain in
what circumstances those verbs can change into mabniyyu.

Along with the teachers to make sure that the students understand the topics

properly, they also have to make sure that, they give students a lot of
questions that need short answers.
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Summary of Candidates’ Performance on Each Topic

Appendix A

2022
The Percentage of
Number of Candidates who
SIN Topics Questions Scored an Remarks
Average of 30% of
Marks or Above
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question: Noun
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"| Adverbs (dq L), ' verage
Indeclineability;
Attached Pronouns
and Object of the
sentence (4 J[sedal)
.| Reading for 2 34.24 Average
Comprehension
3. | Expression 11&12 33.59 Average
4. | Literary works 9&10 30.57 Average
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